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Section - I (English)

Q.No: 1 Choose the correct question tag from the four options given, which completes the sentence logically and
grammatically:
She speaks English fluently, _____?

does she

hasn't she

isn't she

doesn't she

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Critical Thinking

Critical thinking is a cognitive skill that involves analysing information, making reasoned judgments, and solving
problems. It goes beyond memorization and encourages individuals to question assumptions and evaluate
evidence. Developing critical thinking skills is crucial in navigating complex situations, making informed
decisions, and fostering intellectual independence. Educational institutions play a vital role in promoting critical
thinking through interactive and inquiry-based learning approaches.

What is the focus of the paragraph?

Cognitive skills

Critical thinking

Educational institutions

Inquiry-based learning

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Critical Thinking

Critical thinking is a cognitive skill that involves analysing information, making reasoned judgments, and solving
problems. It goes beyond memorization and encourages individuals to question assumptions and evaluate
evidence. Developing critical thinking skills is crucial in navigating complex situations, making informed
decisions, and fostering intellectual independence. Educational institutions play a vital role in promoting critical
thinking through interactive and inquiry-based learning approaches.

How does critical thinking go beyond memorization?

By questioning assumptions

By fostering intellectual independence

By solving problems

By making informed decisions

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Critical Thinking

Critical thinking is a cognitive skill that involves analysing information, making reasoned judgments, and solving
problems. It goes beyond memorization and encourages individuals to question assumptions and evaluate
evidence. Developing critical thinking skills is crucial in navigating complex situations, making informed
decisions, and fostering intellectual independence. Educational institutions play a vital role in promoting critical
thinking through interactive and inquiry-based learning approaches.

What role do educational institutions play in promoting critical thinking?

By limiting cognitive skills

Discouraging inquiry-based learning

Fostering intellectual dependence

Through interactive and inquiry-based learning approaches

Q.No: 5 Which punctuation mark is used to indicate the end of a declarative sentence?

Question mark (?)

Exclamation mark (!)

Period (.)

Comma (,)

Q.No: 6 What is the correct punctuation for a direct question?

Exclamation mark (!)

Comma (,)

Question mark (?)

Period (.)

Q.No: 7 Identify the singular form of "teeth".

toth

tooth

teeth

teeths

Q.No: 8 Choose the correct term for "A person who takes care of dental health".

Dentist

Dermatologist

Nurse

Doctor

Q.No: 9 Fill in the blank with the correctly spelled word:
She was extremely agitated as she did not _________ the prize.

recievee

receieve

recieve

receive

Q.No: 10 In which sentence is the past continuous tense used?

We were playing video games.

She will play the piano.

They played football.

I play tennis regularly.

Q.No: 11 Choose the correct part of speech for the underlined word in the sentence.
The director explained the complex concept with clarity.

Adverb

Adjective

Verb

Noun

Q.No: 12 Which of the following is not the antonym of the word "Bravery"?

Timidity

Cowardice

Fear

Gallant

Q.No: 13 Fill in the blank with correct option

He_______ weak in English in the beginning.

were

was

is

are

Q.No: 14 What does the idiom "the elephant in the room" mean?

An obvious problem or issue that everyone is ignoring

A large room

A room filled with elephant pictures

A room with elephants

Q.No: 15 Choose the correct option that completes the sentence logically and grammatically:
He spoke _____ well that everybody was pleased.

so

too

such

more

Not Answered

Q.No: 16 What does the term "quit" mean?

Endure

Surrender

Persist

Resist

Q.No: 17 Arrange the following jumbled sentence into a coherent order:

A. Conducted

B. A

C. Experiment

D. Students

E. The

F. Science

A-B-C-D-E-F

E-D-A-B-F-C

B-D-C-E-F-C

B-D-A-E-F-C

Not Answered

Q.No: 18 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive voice.

Have you created this beautiful artwork?

Has this beautiful artwork been created by you?

Has creating this beautiful artwork been done by you?

Had you created this beautiful artwork?

Had you been creating this beautiful artwork?

Q.No: 19 Choose the correct article in English grammar, which completes the sentence:

___ reindeer is a native of Norway.

The

A

An

No Article Required

Q.No: 20 Choose the correct option that completes the sentence logically and grammatically:
I am not interested _____ politics.

for

on

in

by

Q.No: 21 Choose the option that best represents the antonym of the underlined word in the sentence.
The teacher's lenient attitude encouraged student engagement.

strict

vague

incompetent

unfair

Not Answered

Q.No: 22 Choose the option to correctly complete the sentence in the present tense:
Sanju ______ to school every morning.

going

went

had gone

goes

Q.No: 23 What is the Synonym for "Elaborate"?

Simple

Complex

Basic

Easy

Q.No: 24 Choose the correct part of speech for the underlined word in the sentence.
The dog jumped over the wooden gate.

Adjective

Verb

Adverb

Noun

Q.No: 25 Choose the word that means "to make amends for a wrongdoing":

Excuse

Atonement

Repent

Pardon

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Not Answered

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 A certain sum becomes five times on simple
interest in 10 years. What is rate percent per
annum?

40% 40%

50% 50%

30% 30%

20% 20%

Q.No: 52 Simplify:

Q.No: 53 A man saves 15% of his monthly income. If he
saves Rs.4,200 per month, what is his monthly
income?

Q.No: 54 The average of two numbers is 85. If
one number is 50, what is the other
number?

Q.No: 55 If the cost price of an article is Rs.120 and
the selling price is Rs.150, what is the
profit percentage?

25%

23%

20%

18%

Q.No: 56 What percent of 80 is 36?

45%

43%

48%

50%

Q.No: 57 Find the simplest form of 80:75 ?

15:8

15:16

8:5

16:15

Q.No: 58 Five years ago, Minu was twice as old as Tina.
Today, Minu is 25 years old. What is Tina's age
today?

25 years

15 years

20 years

10 years

Not Answered

Q.No: 59 Simplify:

8 8

11 11

-3 -3

9 9

Q.No: 60 A and B can together finish a work in 30
days. They worked together for 20 days
and then B left. After another 20 days, A
finished the remaining work.In how many
days A alone can finish the work?

60 days

50 days

40 days

https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
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54 days

Not Answered

Q.No: 61 If you randomly select a letter from the
word "ORANGE", what is the probability
that it is 'A'?

1 1

1/6 1/6

3/4 3/4

2/3 2/3

Not Answered

Q.No: 62
If 15 machines can produce 100 widgets in
10 days, how many machines are needed to
produce same number of widgets in 5 days?

Q.No: 63 The average of eleven numbers is 68. If the
mean of the first five numbers is 65, what is
the mean of the last six numbers?

38.46

70.5

72.6

70

Not Answered

Q.No: 64
If you roll a fair six-sided dice, what is the
probability of rolling a number less than 6?

5/6

1/6

0

2/3

Not Answered

Q.No: 65 A real estate agent sells two sites for
Rs.5000 each. On one he gains 20% and on
the other he loses 10%. What is his loss or
gain percent?

4% Profit

7% Loss

6% Loss

5% Profit

Q.No: 66 In a class, there are 16 students who have
scored highest in Science and 24 students who
have scored highest in Math. What is the Science
to Math ratio of highest scorers?

Q.No: 67
Father's age is 5 times the age of his son. The
total of their ages is 75 years. Find the ages of the
father and son.

65.5 and 15.5

60.5 and 10.5

61.5 and 10.5

62.5 and 12.5

Q.No: 68 What is the Least Common Multiple (LCM) of 8 and
9?

Q.No: 69 Simplify:

Q.No: 70 A train travels at a speed of 120
km/h. How far will the train travel
in 2 hours and 30 minutes?

240 km 240 km

300 km 300 km

48 km 48 km

200 km 200 km

Q.No: 71 Mohan borrows Rs.4000 from a friend for 2
years at 12% per annum. How much simple
interest does he need to pay?

Rs.960 Rs.960

Rs.200 Rs.200

Rs.1060 Rs.1060

Rs.1000 Rs.1000

Q.No: 72 A farmer sold vegetables he had grown at a
profit of 30%. The cost price was Rs.8000.
How much is the total amount he got?

Rs.11,300

Rs.11,400

Rs.10,200

Rs.10,400

Q.No: 73 Which of the following numbers is a factor of the
HCF of 18 and 32?

Q.No: 74 Simplify:

Q.No: 75
If a car travels for 2.5 hours, at what
speed will it cover 225 kilometers?

90 kmph 90 kmph

60 kmph 60 kmph

180 kmph 180 kmph

70 kmph 70 kmph

Section - IV (General Knowledge)

Q.No: 76 Who was the first Indian to win Grammy Awards?

Gulzar

A R Rahman

Ravi Shankar

Javed Akhtar

Not Answered

Q.No: 77 The 'Stockholm Conference' deals mainly with
which issues?

Human bigotry

Human racism

Human Environment

Human gender issues

Not Answered

Q.No: 78 "Mixed Farming" means:

Sowing of both cash and food crops

Sowing of two or more crops

Rearing of livestock and agriculture

Sowing of two or more plants in alternate years

Q.No: 79 Who amongst the following is the first Indian
to win an individual gold medal in the
Olympic Games?

Rajyavardhan Singh Rathod

Abhinav Bindra

Mohammad Shahid

Muhammad Aslam

Q.No: 80 Supriya Routary, Manisha Panna,
Proloy Saha are associated with
which of the following sports event of
Odisha?

Kabaddi

Volley ball

Hockey

Foot ball

Q.No: 81 Who is referred to as the "Father of computer
science"?

Charles Babbage

C V Raman

Steve Jobs

Alan Turing

Q.No: 82 Galilean satellites (or the four moons) belong to
which Planet?

Jupiter

Neptune

Saturn

Uranus

Not Answered

Q.No: 83 Which of the following is the largest coastal
lagoon in India?

Chilika Lake

Vembanad Lake

Wular Lake

Pulicat Lake

Q.No: 84 What is the scientific name of Vitamin A?

Niacin

Retinol

Thiamine

Riboflavin

Q.No: 85 What is the real name of Munshi Premchand?

Dharamvir Bharati

Suryakant Tripathi

Dhanpat Rai Srivastava

Ramdhari Singh Dinkar

Not Answered

Q.No: 86 What does 'FATF' stand for?

Financial Action Task Force

Financial Association Task Force

Fireman's Action Training Force

Fire Action Technical Force

Q.No: 87 Who was the first Mughal ruler in India?

Jahangir

Babur

Aurangzeb

Akbar

Q.No: 88 Zuari Bridge, is located in which state/UT?

Kerala

Karnataka

Goa

Maharashtra

Not Answered

Q.No: 89 Which of the following are the 5 original members
of ASEAN?

Indonesia, Laos, Seychelles, Vietnam and Thailand

Laos, Malaysia, Cambodia , Singapore and USA

Indonesia, Laos, Philippines, Singapore and Jakarta

Indonesia, Malaysia, Philippines, Singapore and Thailand

Q.No: 90 Fill in the blank with the correct option:

_______ revolution is related to potato production
in India.

Red

Yellow

Round

White

Q.No: 91 The World Tuberculosis Day is observed on which
day?

April 18

March 24

June 20

March 27

Not Answered

Q.No: 92 The Nobel Prize in Medicine (or
Physiology) was jointly awarded
in 2023 to Katalin Kariko and
____________.

Jeffrey C Hall

Drew Weissman

Tasuko Honjo

Charles M Rice

Not Answered

Q.No: 93 Which one is the longest epic of the world?

Ramayana

Ramcharitmanas

Mahabharata

Hanuman Chalisa

Q.No: 94 Article 352 of the Indian constitution primarily
deals with:

Proclamation of dissolution of the Lok Sabha

Proclamation of the formation of a new state

Proclamation of national emergency

Proclamation of appointment of CJI

Q.No: 95 Which organization and the
Ministry of Defence inked a
contract for around 3000 crores
for the Upgraded Super Rapid Gun
Mount and associated equipment?

ISRO ISRO

DRDO DRDO

BHEL BHEL

L&T L&T

Q.No: 96 The sea route to India through the Cape of
Good Hope was discovered by:

Christopher Columbus

Desmond Haley

Robert Stevenson

Vasco Da Gama

Q.No: 97 Which article of the Indian Constitution
is related to Election commission of
India?

Article 123

Article 216

Article 324

Article 300

Q.No: 98 Baba Amte was well-
known for his social
work relating to the
eradication and care
of the poor suffering
from _________.

Rabies

Leprosy

Small-pox

Bird flu

Q.No: 99 Which act was abolished to set up the New
Industrial policy of 1991?

Indian Contract Act

Consumer Protection Act

MRTP Act

Sale of goods Act

Q.No: 100 Which model was created as an
analytical framework for India’s first
five-year plan?

Feldman-Mahalanobis model

Heckscher-Ohlin Trade theory

Keynisian economics

Laissez Faire Capitalism

Not Answered

Section - V (Computer Knowledge)

Q.No: 101 Shortcut key to Open Microsoft Access help:

Not Answered

Q.No: 102 GIGO stands for ___________.

Go-In, Go-Out

Get-In, Get-Out

Garbage-In, Garbage-Out

Give-In, Give-Out

Q.No: 103 The Internet works by using a
protocol called _______.

Q.No: 104 Which is the most common language used in
web designing?

Q.No: 105 Android operating system has
been developed by
____________.

Intel

Hewlett-Packard (HP)

Google

Facebook

Q.No: 106 In email, CC stands for ______.

Casual Copy

Carbon Copy

Coloured Copy

Cold Copy

Q.No: 107 Pixels are arranged in a regular ________
grid.

Four-dimensional

Two-dimensional

Three-dimensional

One-dimensional

Q.No: 108 Which of the following is NOT a windows
application?

Calculator

WordPad

Notepad

Tweetbot

Q.No: 109 Which of the following identifies a cell in Excel?

Label

Address

Formula

Name

Q.No: 110 To open a new database, the shortcut key
used is:

CTRL + N CTRL + N

CTRL + P CTRL + P

CTRL + M CTRL + M

CTRL + S CTRL + S

Q.No: 111 What does malware stands for?

Mobile software

Micro software

Main software

Malicious software

Q.No: 112 Which of the following is not a
pointing device?

Light pen

Joystick

Keyboard

Mouse

Q.No: 113 LED is a ________ Diode.

Light Emission

Light Emulsion

Light Emitting

Light Erected

Q.No: 114 An art of hiding the existence of a
message is known as
______________

Security

Cryptography

Attack

Steganography

Q.No: 115 What is the function of the Hyphenation feature
in MS Word?

To insert hyperlinks

To change font sizes

To change font styles

To add hyphens to words at the end of lines

Q.No: 116 ______ refers to
unsolicited email
messages, usually sent in
bulk to a large list of
recipients.

Deleted mail

Spam

Draft

Inbox

Q.No: 117 DOS is an abbreviation of:

Dynamic Operating System

Disk Operating System

Domain Object Service

Direct Object Service

Q.No: 118 The word E-mail stands for:

Extra Mail

End to end Mail

Exchange Mail

Electronic Mail

Q.No: 119 The name a user
assigns to a
document is
called _______.

File name

Program

Record

Data

Q.No: 120 Communication
between a
computer and
a keyboard is
an example of
_________
transmission.

Full-duplex

Half-duplex

Simplex

Automatic

Q.No: 121 A user can get files from
another computer on the
internet by using:



Q.No: 122 In twisted
pair, wires
are twisted
together,
which are
surrounded
by an
insulating
material
and an
outer layer
called
______.

cover

frame

jacket

disk

Q.No: 123 GIF stands for:

Graphics Interchange Format

Graphical Interchange Function

Graphics Interclass Format

Graphics International Format

Q.No: 124 The server on the internet is also known as a
_____.

Host

Repeater

Gateway

Hub

Q.No: 125 Computer security is also called _____ security.

Mail

Integral

Networking

Cyber

Section - VI (General Science)

Q.No: 126 Both Power and Manure is produced by:

Thermal Plant

Hydroelectric plant

Nuclear Plant

Biogas Plant

Q.No: 127 What is the responsibility of xylem in plants?

Production of seeds

Movement of water

Movement of food

Synthesis of chlorophyll

Q.No: 128 Food cans are coated with tin and not
with zinc because

zinc is costlier than tin

zinc has a higher melting point than tin

zinc is more reactive than tin

zinc is less reactive than tin

Q.No: 129 Which statement about baking
soda is FALSE?

It reacts with water to form a strong
base.

It decomposes with heat to release
carbon dioxide gas.

It acts as a leavening agent in baking by
trapping CO2 bubbles

It neutralizes acids due to its basic
nature.

Not Answered

Q.No: 130 Among the options given, which one
of the following organisms can
change their sex depending on
environmental cues ?

Beluga whale

Porpoise

Toad

Snail

Q.No: 131 Which of the following is NOT a Primary
Pollutants?

Nitrogen oxide

Carbon monoxide

Sulphur oxide

Ozone

Q.No: 132 What is the primary basis for the
classification of animals into
vertebrates and invertebrates?

Feeding habits

Size

Habitat

Presence of a backbone

Q.No: 133 Which law states that "The potential
difference across the ends of a resistor is
directly
proportional to the current through it,
provided its temperature remains the
same"?

Faraday's Law

Newton's Law

Ohm's Law

Coulomb's Law

Not Answered

Q.No: 134 Cuscuta, also known as dodder, is a
parasitic plant that attaches to other
plants and steals nutrients. What
type of nutritional strategy does this
represent?

Mutualism

Herbivory

Parasitism

Predation

Q.No: 135 Which of the following is a primary
source of nutrient pollution in water
bodies?

Oil spills

Airborne pollutants

Agricultural runoff

Fish kills

Q.No: 136 What is the measure of matter in an object called?

Pressure

Mass

Volume

Length

Q.No: 137 The internal energy reserve of an
apple tree is mostly made up of
_________.

Glycogen

Nitrogen

Fats

Starch

Q.No: 138 What is the role of Abscisic acid in plant
hormones?

Synthesizing auxin Make this difficult

Stimulating cell division

Promoting growth

Inhibiting growth

Not Answered

Q.No: 139 Among the options given, which is
the most reactive metal?

Silver

Potassium

Gold

Copper

Q.No: 140 Which of the
following statement
is true?

One of the main consequences
of ozone layer depletion is
Increased ultraviolet (UV)
radiation

One of the main consequences
of ozone layer depletion is Acid
rain

One of the main consequences
of ozone layer depletion is
Ozone layer thickening

One of the main consequences
of ozone layer depletion is
Decreased rainfall

Q.No: 141 In birds, the process of laying
eggs outside the body for
subsequent development is known
as

Internal fertilization

Oviparous reproduction

Viviparous reproduction

Parthenogenesis

Q.No: 142 Pollen grains are produced by

Stigma

Petal

Root

Anther

Q.No: 143
Mirage is an optical phenomenon caused by

Diffraction

Scattering

Atmospheric refraction

total internal reflection

Not Answered

Q.No: 144
A current-carrying conductor when placed in
a magnetic field experiences ___________

electric shock

attraction

repulsion

force

Q.No: 145 What type of heart structure is found in Toads?

Five - chamber heart

Two-chamber heart

Three- chamber heart

Four - chamber heart

Q.No: 146 ____________ is the best way of
managing electronic waste

Burring in the ground

Disposing it in an empty space

Recycling

Scrapping it

Q.No: 147 When can a solar heater cannot
be used to generate hot water ?

A hot day

A cloudy day

A sunny day

A windy day

Q.No: 148 Which one of the following shows the correct
relationship in terms of reactivity?

Not Answered

Q.No: 149 If a substance causes red litmus paper
to turn blue, it is likely to be basic in
nature with a pH:

More than 14

Less than 7

More than 21

More than 7

Q.No: 150 As per the five kingdom system of
biological classification, a biologist would
classify 'Ustilago (smut)' under

Ascomycetes

Slime Mopuld

Phycomycetes

Basidiomycetes

Not Answered


